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In this experiment, you will determine a property, 1] , of the bicycle spoke
(20 ks )

ﬁ-::l
= provided,

(a)  Measure and record the height, £, of the beaker provided.
(b)  Mark a ring round the midpoin: of the hicycle spoke using a marker or

a pen.
(€)  Adjust the position of the clump (o be a1 a position /7 = 45.0 cm above

the surface of the table
(d)  Clamp the metre rule vertically such that its base rests on the surface

of the table and close 1o the beaker.
(e)  Using a piece of thread and the retort stand. suspend the bicycle spake

as shown in figure 1,
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Fig. 1 Water in beaker

() Pour & volame, V=50 cm’ of waicr into (he beaker.
Adjus the free end of the thread until the end, T, of the bicycle spoke

(g)
Just touches the surface of the water inside the beaker.
(h)  Read and record the height, v, of the ink mark, /, above the surface of

the 1able,
(i)  Repeat procedure (0 to (h) for values of ¥= 100 -
250.0 and 300.0 ¢m’ -0, 150.0, 200.0,
¥

(i) Record your results in a suitable table including values of 2 and %

. ¥ : . L

(k) .Flma graph of : (along the vertical ayis) againsi % (along the
horizontal axis).

(1) Find the slope, 5, of the graph.

(m)  Read and recard the intercept, C, on ﬁef— axis.

(n)  Calculate the property, I] of the bicycle spoke using the expression:

200
=5
where 4 =38 § o,,2
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b Adjust the value of X 1o 0,900 m,
(©) Close switch K.
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he constant, [ . of the converging
o f (20 marks)

forch bulb and a switch K in series.
¢ pause, lens and the white screen as

n of e lens so that the distance, X, betwe
i5 20.0 em.




